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Wadhle die richtige Antwort aus (plus Zahlen bis 20)

Plusrechnen

1. 2. 3. 4.

12+ 18 = 17+ 47 = 15+ 87 = 2+50=
BO®EE® @ BEOE
5. 6. 7. 8.

20 + 89 = 1+3= 6+ 87 = 5+ 14 =
OE®E GE®E ®EGE®
9. 10. 11. 12.

12 + 53 = 9+32= 11+ 63 = 18 + 30 =
O@OE @HEEE B0 @®EE
13. 14. 15. 16.

14 + 32 = 0+80= 18 + 55 = 4 + 64 =
B®O@H® OHEEO OOEE OEEE®
17. 18. 19. 20.

13 + 64 = 5+ 38 = 0+57= 2+6=
B@EE HEE OO OO
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1.12+18= 2'17+47: 3.15+87= 4'2+50=
B(H®EY)  BE)NE) @) F)E) () ()
5.20+89= 6'1+3= 7.6+87= 8.5+14=
EE)EM  (OE@E) ®BEE®E) @0 E)®)
9'12 +53 = 10.9+32 = 11&1 +63 = 12.18 +30=
OEO@)  EEENE)  @E9E() B
1:4 +32 = 14'o +80 = 15.18 + 55 = 16.4 + 64 =
MG  ENENEN(E) (DEI®E)E)  @)E)FE)E)
17i3 + 64 = 18'5 +38= 19'o +57 = : 2+ 6=

BHEHEG® HEOE OOOE OO
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